Average Atomic Mass and Isotopic Abundance
An atomic mass unit is defined as 1/12 the mass of a carbon 12 atom. Protons and neutrons have a mass of 1 AMU and electrons have almost no mass. Despite this elements have atomic masses that are not whole numbers as you can see on your periodic table.  The atomic mass number given on the period table is better defined as the average atomic mass. Average atomic mass is the average atomic mass of all the chemical element's isotopes as found in a particular environment, weighted by isotopic abundance.  For artificial elements the mass of the most stable isotope is listed in brackets as the atomic mass

Isotopes are different forms of the same element with a varying atomic mass. Hydrogen has three different isotopes named Hydrogen, Deuterium, and Tritium.  Each one of those versions has a different mass.  Protium, the first of the versions of hydrogen, has a mass of 1.0AMU because of the presence of one proton and no neutrons.  Deuterium has a mass of 2.0 AMU because that version of hydrogen still has the one proton, but it has the addition of one neutron as well.  Lastly, tritium has a mass of 3.0 AMU because of the addition of two neutrons to the one proton.  In a given sample of Hydrogen, protium has an abundance of 99.98%, deuterium has an abundance of 0.015% and lastly tritium has an abundance that is negligible.
Some isotopes have an unstable nuclear arrangement and decay or break apart. As these elements break up they give off radiation as different particles or energy that is emitted.
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Isotopic Abundance and Calculating the Average Atomic Mass
This is the relative amount (%) of each isotope found in the earths crust and atmosphere of chlorine.
35Cl – 75.5%
37Cl – 24.5%
Using these isotopes and their abundance, calculate the average atomic mass of Chlorine.

Sometimes, you will not be given the isotopic abundances and you will have to calculate the isotopic abundances.  

Ex. Boron exists as two naturally occurring isotopes: boron-10 (10.01u) and boron-11 (11.01u).  Calculate the relative abundance (%) of each isotope of boron.

To calculate the isotopic abundance use the following formula


Average Atomic Mass  =  x(atomic mass B-10) + (1-x)(atomic mass B-11)
